XIBETACOHIER, FEAABTHEICHALEXEAZABTANOEHERTY

—t

(RIFEL

THEEAR AHERER-RER-THR

KABEMOBREDER - ARRSIOVTE. ARLERA,

K RS FER)

[—iRiz (ATHIRE %5B)])
H@ETRE & B w5 =
% B & | —— , — , —
W Rl =& EB|FYE|H Rl&x S|&x E|F¥YR|HE Rl&x &|&x E|FES8R
NEBERER 650 [413.5 |333.51364.8 | 300 |231.0 {1140 (1646 | 950 |623.5 |469.5 |5294
EHREEER 650 [383.0 |246.5 1320.3 | 300 |199.5 | 93.0 (1420 | 950 (579.0 [400.5 |462.3
[—iRiz (ATHIRE #%)])
%J‘E%ZF %& $ %'{L.L‘: I% 410N
$ $SI. % : =2 = | = : =2 = | = =
W Rl B|&x B|FYE|H Rl&x S|&x EBE|F¥YR|HE Rl&x &|&x E|FEFSR
NEBRER 650 (3845|2755 13434 | 300 |208.0 | 820 (1356 | 950 |582.5 |409.5 |479.0
EEZERFER 650 [389.5 (2755 13406 | 300 |258.0 | 98.0 [157.3 | 950 (577.5 [460.0 |497.9
[—iER (REIB7E) ]
/\E%ZF % EE %l&.l.': I% 1N
$ $SI. % : =2 = | = : (= : =
W Rl B|&x B|FYRE|H Rl&x S|&x EBE|F¥YR|HE Rl&x &|&x E|FEFSR
NEBERER 650 |1467.0 [324.0 (380.0 | 300 |223.5 (| 84.0 [151.0 | 950 |665.0 (460.5 |531.0
[—iER (REIBTE) ]
/\E%XF IJ\ éﬁ X %’lll?-\ I% NN
$ $SI- % : =2 = | = : =2 = | = =
Rk B|&x B|FYR|H Rlx S|&x EB|F¥YR|HE Rl&x &|&x E|F8R
EEZERFER 650 14155 [312.0 (358.2 | 200 162 120 (1443 | 850 |553.5 |464.0 [ 5025




THSEEAR SHBE

HIEIZHALEKZAZLET XD

NIEBFTACDOBIEL, REH
KEBEMMOBRFBOER - ARXREFITONTIE, FARLEEA

=
=]

B

iR

%

& 1K
114

(RIBFRIKF HEREFE]

RRER-FHR
AHBATT,

iR
600

TR
151.7

TR

371.0

— |5
~

200

|t

[(ERERDER ERRAREBRRO]
HBETAK

i
400

EEi =
251.5

= 1K

197.0 12193

i R | &R

K| TR

TR

HEEFEH

iR

nﬂﬁ

Ml | g

oot

200

& (RIFR WEE%H&)]
X

TR
100

€3I

100

N
=
B

i

& K

—_
=
=)

iR

FHR

355.3

$iéjlﬁ\

it

0

=1
410N

& 1K
600

128.0 | 145.7

FHR

—_

200

~ M

0]

o |

—_

AN
(B AR (RERN)]

HETRF
R

& K

178.5 | 209.6

=
X 1=

246.3

i

FHR

$iéjlﬁ\

DNHBEFR

[(PRitRERE(RERRN
i

F O 4

AR

iR

Ml | g

oot

850

ETZF
= K| FHR

200

)’sﬂm

=
=

650

iR

RERFER

Wil | g
0

150

L}

I

50

[ERiERERR (RBER \Wﬁiﬂgﬁ) ]
nHH X
T

x 1K

=
=]

il

i
100

iR

K| TR

FHR

RERFFR

[PicitE e A2

itk

Wil | g

L}

=1
R

850

1k (RiER5) ]
HBTAE
15

FHR

200

il
il
il

i
650

RERFFR



